How to trade and set otops in Urbit the Tool
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Simple to Trade, Simple to



. | | | Why is Orbit so Powerful?
Urbit the Tool is a chaotic Equation

An analog of the market just as a clock is an Q Same as Markets?
analogy of lime. It is correct 100 out of 100 times on Orbit works by reading Bijections [ the
any scale. 9 RHE of markets that explain the
9 mechanics of market movement exactly
Recurrence Relation - the pattern.

The Pattern?

Comes from what is called A

.

[ xel=F) | @

o recurrence relation. A
9 mathematical equation in which if you
know one number you can tell the
Sequence next exactly.

Explains the structure
9 The market is a fractured structure. The

market is NOT random.
The equation simply says the next value depends ONLY on the
immediately previous value.

Infinitely Complex




And so, a Chaos game Called —_—

Follow 3 Dots & 2 Arrows or % Trend Lock V\
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Following market exactly as explained by equation FngeLow A GAME in Risk - Free Space



For Power Trades: USe The j> Do 1) If Intraday Cyclicality = (B or D) you, Pawer Trade
|00% Trend Lock Trigger

AB > 4

2) If Intraday Cyclicality = (A or C) you, Trade Range
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Red crown ()

Entry and Setting Stops
(Green Market)
Pullback ()
\ ‘ New Trade Range Trades
4 Market Stop = (see top number on Orbit screen)

Term Trade = Up arrow
Trade Risk = Red (i.e. safe up risky down)
® So correct term trade = Buy Higher Lows.

But stop loss > Market Stop is a risk

NBS () @ @ Next Best Stap (NBS) = Green dots @ b

Dots @ b fit bijective stream (or Pattern) of
green/red dots going up to red crown.

Note:: [1] TP judged by trader to be less than

Ty

Buy Lows Red Crown @ high to take trade @ d.
Market Stop () [2] NBS b = all trade points (entry dots).

N

Green crown () @ Trade Points (Green dots)
For power trades: Use 100 % Trend Lock

Bijective Stream (Flow) Up = Pattern  For range trades: Use # 100 % Trend Lock
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Red crown () @ Entry and Setting Stops

. (Red Market)
Market Stop () Tra Pants (REd\l,ditS) Range Trades

Sell Highs Market Stop = (see top number on Orbit screen)
Term Trade = Down arrow

New Tr:ade Trade Risk = Green (i.e. safe Down risky Up)
NBS () @ So correct term trade = Sell Lower Highs
. @ But stop loss < Market Stop is a risk
MRI () Next Best Stop (NBS) = Red dats b
Dots @ b fit bijective stream (or Pattern) of
! green/red dots going down to green crown.

Note: [1] TP judged by trader to be to be higher

| Pullback () than crown to take tradel@ d.
[2] NBS b = all trade points (entry dots).

@ ‘ For power trades: Use 100 % Trend Lock

Green crown ()
Bijective Stream (Flow) Down = Pattern For range trades: Use # 100 % Trend Lock
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Know What Type of Market you are Trading always

Price Dynamics Anti-Persistent Series
Cyclic Trend < Pullback
Persistent Series Persistent Series
Pullback Cyclic Trend
Anti-Persistent Series Price Dynamics
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A Mathematical Model . KSI] Crowns

Mathematically, Drbit the Tool is an
Oscillator Model of market movement. An
oscillator model is a dynamical model in
which the variable evolves through a
periodic (or in the case of markets an
aperiodic) trajectory or orbit in ambient
space (range). This periodic trajectory is a
loop through ambient space as the state of
the system returns to where it began after
some indeterminate time. This loop through
space is called the phase of the oscillator.

Space p—
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The K30 is the most powerful trading oscillatar
in the world because amaong other things, it
employs the idea of phase synchrony across
the 9 time partitions of the market to tell
amplitude. |t does so correctly [00/100 times.
In other words, it finds tops and bottoms to
exactitude in time.

Trading to such accuracy simply involves
visually reading moments of change to enter
trades. We use the 100% Trend Lock Trigger
for power trades and the less than 100% Trend
Lock Trigger for range trades.



KSO :
ich D 4ﬂruwns 2) Topologically Accurate

Flow Arrows confirm the
safest time to enter

g direction. ‘
pace Spike Event
Top
KSO The Sell  Arrow
ol . D ‘ Command
Low

1) 1818.23

Extrema . Check Risk

Range A KSO employs oscillator P
{ > \ synchrony to find the exact Inital
\ / turning point at the correct time. Value

L] 3)

Note: Market equation shows the market to be fractured (i.e. Fractal), and so price
[3 maoves from point a - b up and b - a down certain on all frames (a and b, pivots).
: But frames are at different scales and all cycles must complete in each frame. So
for instance, if Bn and 7n were both at KSO low moving to high, at Bn KSO high there
\ can be (n)/ Bn pullback toa shallow level e.g. R (or even (<)) and return to high to
complete 7n cycle. This process is recursive or repetitive. Keep an eye on (n) very
interesting its role.
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MRI Tool
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Fully Explains the Chaotic Foundations of the Markets

Simply wait at the M/ Folding range New Trade
[0 take traders per day/week, etc 2)
- Mean Reversion: Chaotic variables are
. Stretching space up mean reverting (and hence nonmonotonic,
_ (Persistent] i.e. move up and down going up or down).

To stretch space up or down, variable
returns to the .38 - .67 range in diagram
to repeatedly fold space. This is true
every new period be it millisecond, second,
minute, hour, day, week, month, year etc.
Hence, fractal geometry says the variable
is infinitely complex, i.e. behaves similarly
to infinity. To see this is true check MR|
history on every chart frame - behavior
is the same.

__ Repeated folding
of space
[Anti - Persistent]

)\

— Stretching space down
— [Persistent]

What is chaos? Chaos is the repeated folding and stretching of the space to which a variable maps.
Therefore, chaos is a behavior in the numbers when assets are traded uninfluenced by external factors
and so the pattern remains true in war or peace To see simple live examples in MT4, go to Market Watch
> Tick Chart. The MRI tool shows the same behavior on trading charts.
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